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QUESTION 1

Which statement is true about the DriverManager class?

A. It returns an instance of Connection.

B. it executes SQL statements against the database.

C. It only queries metadata of the database.

D. it is written by different vendors for their specific database.

Correct Answer: A

The DriverManager returns an instance of Doctrine\DBAL\Connection which is a wrapper around the underlying driver

connection (which is often a PDO instance). Reference: https://www.doctrine-project.org/projects/doctrine-
dbal/en/2.8/reference/configuration.html

QUESTION 2

Given the code fragment:

Map books = new TreeMap();

books.put (1007, "A");

books.put (1002, "C");

books.put (1001, "B");

books.put (1003, "B");

System.out.printin (books);

What is the result?

A. {1007 = A, 1002 = C, 1001 = B, 1003 = B}
B. {1001 =B, 1002 = C, 1003 = B, 1007 = A}
C. {1002 = C, 1003 = B, 1007 = A}

D. {1007 = A, 1001 = B, 1003 = B, 1002 = C}
Correct Answer: B

Reference: TreeMap inherits SortedMap and automatically sorts the element\\'s key

QUESTION 3

Given:
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class Product {
String pname;
public Product (String pname) {
this.pname = pname;
}

and the code fragment:

Product pl = new Product ("PowerCharger"):;
Product p2 = pl:;
System.ocut.prinzln{pl.equals(p2))r
Product p3 = new Product ("PowerCharger"):;
System.out.println({pl.equals(p3)):

What is the result?
A. true true

B. false true

C. false false

D. true false

Correct Answer: D

QUESTION 4

Given: What is the result?
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public class 3trMan {
public static void doStuff (String s) {

try
if (8 = mull) {
throw new NullPointerException();

}
} finally {
System.out.printIn(“-£finally-*);

}

Syatem.out.printIn(“—doStuff-"};

}
public static wvoid main (String[] args) {
try |
doStuff (null) ;
} catch (NullPointerException npe) {

System.cut.printIn(“-catch-");

A. —catch-finally-dostuff-
B. —catch-

C. —finally-catch-

D. —finally -dostuff-catch-

Correct Answer: C
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Your Code

1~ public class StrMan {

2" public static void doStuff(String s) {

3 try {

4 if (8 == null) {

5 throw new MullPointerException();
6 }

- } fimally {

g System.out.println(”-Ffinally-");
9 }

1@ System.out.println(”-doStuff-");

11 }

12 - public static void main (String[] args) {
13 ~ try {

14 doStufflnull);

15 = } catch (NullPointerException npe) {
16 System.out.println(”-catch-"):

17 }

18 I

19 1}

CommandLine Arguments ...

Stdin Inputs...

=finally-
-catch-

QUESTION 5

Given the code fragment:

LocalDate valentinesDay =LocalDate.of(2015, Month.FEBRUARY, 14);
LocalDate nextYear = valentinesDay.plusYears(1);

nextYear.plusDays(15); //line n1
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System.out.printin(nextYear);
What is the result?

A. 2016-02-14

B. A DateTimeException is thrown.

C. 2016-02-29

D. A compilation error occurs at line n1.

Correct Answer: A
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